Physics 11 — Exam Equations

X =X, + Vi X = Xo + Vot + ¥ at?
V=V, + at v 2=V, 2 + 2a(X —Xo)
Y= Yo+ Vot + Yo at’ V2=V, 2+ 2a(y o)
V= VY,

2
Fret = Ma
Fq =mg Fr= pFy
J=mv-myv, p=mv
J=Ft MaVa + MpVy = MV, + mpVy’
MoV, +MpVy = (M, +Mp)v’ (M, +mp) v = m.ve' + myvy’
W =E; - E W=Fd
Ex+Eg+E.=E’ +Ey +E P=Wrh
Ee = ¥2kx’ F =kx
E, = Yomv? Ey = mgh
v="FA v=331+0.6T
fe=f(V+V,) =1 V- V)

(V—vq) (V+vy)
L,=(2n—1) A/4 L, = nA/2
foear = | f2 — T4 f=Nt
T=t/N T=1/f
Eff = Eo/E; x 100% Eff = W,/W, x 100%
1+1=1 n;sind; = ngsinOg
d d, f
M=h =-d 1hp = 746W

he do

‘= -b+Vb2-4ac



